27 "7 'O R, PR L1702

— RP2I NINMD NA5R 99T %01 2
And 3'"'7190 derives it from NN N9

OVERVIEW

The X3 concluded that 3" derives from Mn°1> 790 two laws. That 790
7072 X"7 X1 70D (which excludes 702), and that it must be a 13°2 N7157 727
71°2% (which excludes "1 27w5 1 "nwn X5w n"v). The reason he can derive
two 2°71%°% from the same word is because the word nin>> could have been
written N2 [which would still teach us one 7T1°7] and instead it was written
mn> to teach us also the second 7% as well. nmpoIn will resolve an
apparent contradiction with another X7 which (seemingly) maintains that
377 is not w7 two MwAT based on NN®15 N2,

nvoIn asks:
— 11991Y )2 TYHN 297 1929 DY MNP (3,30 71 posy) ‘waann 79927 NN

It is astounding! For in waann pap, the X ) states concerning the 3129

who disagree with ¥''2R9, that -
— 1329 5993 95931 YDY% 5299 YW1 KY MNP N9

They do not interpret nin> n9> (as an additional 7v°%); and A"791 is

included in the 3329 there who disagree with ¥"ax" -
— TN N3 YT D)0 20 /97 1IN NI

And here the X713 states that 3''57199 is DN N9D W=7, This is a contradiction!

N1B0IN answers:
— W7 KT NN 905 91UN XY 1R NIT 19 Y

And one can say; that the X713 there did not say that the other 2°177 do not
agree that we can derive two Mw77 from NN n7D, but rather the X

states that they did not interpret it the way v"ax" did -
:NINT NYAITY 10D 2929107 ONNT XYY NINNY WIN9

"' In the mwn there (%,20) it states that (D117 72) TY°HR ' argues on the 0°»5n and maintains that if one
divorces his wife, even if he prohibits her from marrying a specific individual that she is considered
divorced. The X773 later (on X,30) cites a 072 that four 2°3p7 (including 2"7"7 and ¥"ax") offered different
refutations to the opinion of 1v°5% 1. The refutation that ¥"ax" offered was that this type of v is not a
Mo (and ¥"aR1 knows the rule of 771°2% 11°2 nM377 127 mentioned here because he is NN N> w7 to
teach us both 2°17). However 2" offered a different refutation. The X713 (on 2,30) asked why did not the
other three 0°1p7 (including 2"7"7) accept the refutation of ¥"ax". The X3 answered because they are not
mn > N2 w7 (to teach us two Mw7) and they need nN1n>3 to teach us the 17 of 121 N7157 727

% In our X3 it states 172 ¥ymwn X2 MN*™3 N7 1127, indicating that they are of the opinion that we can only
derive one nw"7 from NIN*15 (NMd).
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The explanation is that they do not utilize the duality of n1n>72 n7> for that
w97 there (namely that she must be divorced from everyone), because

they need the duality of nin>M2 07> for the 297 here that 7% nwan» 722003
032 NWIANA.

SUMMARY
v"aR" utilizes the additional XwA7 from Nin1D 10D to refute the view of ™
q1v9R, while 3"77°9 utilizes it to teach us that 70712 X 927 1°X) 770710 190,

THINKING IT OVER

It seems from Mo0In that (also) the other two 2°1p7 derive from nIn°72 that
7032 NWAANM AKX NWIANA 72°023, however why cannot they derive it (as X237
does) from 777 2n31?!
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